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1. ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûé ÍÛ¾ÛÛýÛÛéÜ›÷©Û ïõÁõ©ÛÛ× …ÛÈÛïõ …Ü½Û•Û¾Û¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 
 Critically evaluate the Income Approach to explain Balance of Payment.   
                  …¬ÛÈÛÛ/OR 
 (A) ÍÛÛé¶ÛÛ µÛÛéÁõ¨Û¾ÛÛ× ÍÈÛýÛ× ÍÛ×˜ÛÛÜÅÛ©Û Ýïõ¾Û©Û ÍÛ¾ÛÛýÛÛé›÷¶Û ÍÛ¾Û›ÛÈÛÛé.  
  Discuss the automatic price adjustment under gold standard. 
 (B) ïõˆ Áõà©Ûé …ÈÛ¾ÛæÅýÛ¶Û ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûé …ÍÛÁõ ïõÁéõ ™öé ? 
  How devaluation affects Balance of payment ? 
 
2. ¼ÛÛÔ …¶Ûé …Û×©ÛÁõàïõ ÍÛ¾Û©ÛäÅÛÛ ¾ÛÛ¤éø ”Û˜ÛÙ ºéõÁõºõÛÁõ¶Ûà ¶ÛÛ¨ÛÛïõàýÛ …¶Ûé ÁõÛ›÷ïõÛéÌÛàýÛ ¶ÛàÜ©Û ÍÛ¾Û›ÛÈÛÛé. 
 Explain expenditure changing fiscal and monetary policy to bring about internal and 

external balance.   
…¬ÛÈÛÛ/OR 

 …éÍÛÛˆ¶Û¾Ûé¶¤ø ¸ÛóÊ¶Û …é¤øÅÛé ÉÛä× ? ¾Ûä×¦éøÜÅÛýÛ¶Û ¾ÛÛé¦øÅÛ ³ùÛÁõÛ …Û ïéõÈÛà Áõà©Ûé ÐüÅÛ ¬ÛÛýÛ ™öé ©Ûé ÍÛ¾Û›ÛÈÛÛé.  
 What do you mean by the Assignment problem ? How has it been solved by the 

Mandelian model ? Explain.  
 
3.  (A) ÍÛäÈÛ¨ÛÙ Ðéü¥øÇ ¤×øïõÉÛÛÇà ÍÛ¾Û©ÛÛ¶Ûà ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
  Critically evaluate Mint Power Parity theory. 
 (B) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¶Ûà ©ÛÁõºéõ¨Û¶Ûà …¶Ûé ÜÈÛÄõ±ù¶Ûà þùÅÛàÅÛÛé ©Û¸ÛÛÍÛÛé.  
  Examine the arguments in favour and against flexible exchange rates. 
              …¬ÛÈÛÛ/OR 
 (A) ÜÈÛþéùÉÛà ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¾ÛÛ× ºéõÁõºõÛÁõ¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
  What are the causes of changes in foreign exchange rate ? 
 (B) ›ä÷þùÛ-›ä÷þùÛ Ü¾ÛËÛ (Hybrid) ÜÈÛÜ¶Û¾ÛýÛ þùÁõÛé ÜÈÛÉÛé ÅÛ”ÛÛé. 
  Explain different intermediate foreign exchange rate systems.  
 
4. 1991 ¸Û™öà¶Ûà ½ÛÛÁõ©Û¶Ûà …ÛýÛÛ©Û-Ü¶ÛïõÛÍÛ¶Ûà ¶ÛàÜ©Û¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé.  
 Critically evaluate the new Export-Import policy after 1991 in India. 
   …¬ÛÈÛÛ/OR 
 SEZ ¸ÛÁõ ¤æ×øïõÛé Ü¶Û¼Û×µÛ ÅÛ”ÛÛé. 
 Write an essay on SEZ. 
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5. MCQs :    
 ¶Ûà˜Ûé¶ÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ÍÛÈÛÛÅÛ ÍÛÛ¾Ûé ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ 

ÅÛ”ÛÛé. þùÛ.©Û. ¸Ûó.-1 = (a), ¸Ûó.-2 = (d) 
 For the following each question, select the best answer and write only its number (a, b, c 

or d) against the question number in your answer sheet. For example if the answer for Q. 
1 is ‘a’ then write Q. 1 = a. 

 (1) ÍÈÛàÍÛ »õÛ¶ïõ¶Ûä× ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û ¼Û›ÛÁõ …Û¸ÛéÅÛä× ÐüÛéýÛ, »õÛ¶ïõ¶ÛÛé ¸ÛäÁõÈÛ¥øÛé Š¸ÛÁõ ©ÛÁõºõ ›÷©ÛÛé ÐüÛéýÛ 
ïõÛÁõ¨Û ïéõ ›÷é¾Û ¦øÛéÅÛÁõ¶Ûà Ýïõ¾Û©Û »õÛ¶ïõ¾ÛÛ× ÈÛµÛ©Ûà ÐüÛéýÛ ©ÛÛé 

  (a) …¾ÛéÜÁõïõÛ¶Ûà ÍÈÛàÍÛ ÈÛé¸ÛÛÁõà ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û ÈÛµÛé. 
  (b) …¾ÛéÜÁõïõÛ¶Ûà ÍÈÛàÍÛ ÈÛé¸ÛÛÁõà ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û –Û¤éø 
  (c) ÍÈÛà¤ø¡ÙöÅÛé¶¦ø¶Ûà …¾ÛéÜÁõïõÛ¶ÛÛ ÈÛé¸ÛÛÁõà ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û ÈÛµÛé. 
  (d) ÍÈÛà¤ø¡ÙöÅÛé¶¦ø¶Ûà …¾ÛéÜÁõïõÛ¶ÛÛ ÈÛé¸ÛÛÁõà ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û µÛ¤éø. 
  Given the foreign currency market for the Swiss franc, the supply of francs slope 

upward, because as the dollar price of the franc rises : 
  (a) America’s demand for Swiss merchandise rises 
  (b) America’s demand for Swiss merchandise falls 
  (c) Switzerland’s demand for American merchandise rises 
  (d) Switzerland’s demand for American merchandise falls  
 (2) ½ÛÛíé•ÛÛéÜÅÛïõ Áõà©Ûé ›ä÷þùÛ ¸Û¦éøÅÛÛ ¼Û›ÛÁõ¶ÛÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¶Ûé ÍÛÁõ”ÛÛ _________ ¬Ûà ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé 

™öé.  
  (a) Ðéüœ×÷•Û  (b) ÍÛaøÛé 
  (c) ÍÛÁõïõÛÁõà …×ïäõÉÛÛé (d) …ÛÜ¼ÛÙ¤Öéø›÷ 
  The exchange rate is kept the same across geographically-separate markets by  
  (a) hedging (b) speculation 
  (c) government regulation (d) arbitrage 
 (3) ÜÈÛÜ¶Û¾ÛýÛ¶ÛÛ þùÁõ …¶Ûé ÈÛé¸ÛÛÁõ ¬Û©Ûà ÈÛÍ©Ûä ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛ ________ …ÛéÇ”ÛÛýÛ ™öé.  
  (a) ÍÛ¾Û”ÛÁõàþù ÉÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û  (b) Asset ¾ÛÛïëõ¤ø ¬ÛàýÛÁõà 
  (c) ¾ÛÛé¶Ûé¤øÁõà ¬ÛàýÛÁõà (d) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûà  
  The relationship between the exchange rate and the prices of tradable goods is 

known as the : 
  (a) purchasing power parity theory  
  (b) asset markets theory 
  (c) monetary theory  
  (d) balance of payments theory  
 (4) …Ûíé²ÛéÜ•Ûïõ þéùÉÛÛé ïõýÛÛé ÜÈÛÜ¶Û¾ÛýÛ þùÁõ ÈÛÛ¸ÛÁéõ ™öé ›÷é …©ýÛÛÁõ¶Ûà …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ×ïõàýÛ 

ÈýÛÈÛÍ¬ÛÛ¶Ûä× ÅÛ“Û¨Û ¼Û¶Ûé ™öé ? 
  (a) ¾Ûäî©Û Áõà©Ûé ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ 
  (b) ÍÛ¾ÛÛýÛÛéœ÷©Û ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ 
  (c) ÍÛ×˜ÛÛÜÅÛ©Û …ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ 
  (d) ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ 
  The exchange rate system that best characterizes the present international 

monetary arrangement caused by industrialized countries is  
  (a) freely fluctuating exchange rates 
  (b) adjustable pegged exchange rates 
  (c) managed floating exchange rates  
  (d) pegged or fixed exchange rates  
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 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà …éïõ ÜÍÛÈÛÛýÛ ¼ÛµÛà ›÷ ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× þéùÈÛÛ¶Ûà ÈÛÍ©Ûä¾ÛÛ× …ÛÈÛé : 
  (a) ¾Ûæ¦øà¶ÛÛé ¼ÛÛÔ ¸ÛóÈÛÛÐü (b) Merchandised Ü¶ÛïõÛÍÛ  
  (c) ÜÈÛþéùÉÛà…Ûé¶Ûé …Û¸ÛéÅÛà ½Ûé¤ø  (d) ¼Ûà›Û þéùÉÛÛé¶Ûé …Û¸ÛéÅÛà ÜÈÛþéùÉÛà ¾Ûþùþù  
  All of the following are debit items in the balance of payments, except  
  (a) capital outflows (b) merchandise exports 
  (c) private gifts to foreigners (d) foreign aid granted to other nations  
 (6) ˜ÛÛÅÛä ”ÛÛ©ÛÛ¶Ûà ¸ÛäÁõÛ×©Û ________ ¬Ûà ÍÛÁõ½ÛÁõ ¬ÛÛýÛ.  
  (a) ÈÛé¸ÛÛÁõà ”ÛÛ²  (b) ÈÛé¸ÛÛÁõà ¸ÛäÁõÛ×©Û  
  (c) ¾Ûæ¦øà/¶ÛÛ¨ÛÛ×ïõàýÛ ”ÛÛ©ÛÛ¶Ûà ¸ÛäÁõÛ×©Û  (d) ¾Ûæ¦øà/¶ÛÛ¨ÛÛ×ïõàýÛ ”ÛÛ©ÛÛ¶Ûà ”ÛÛ²  
  Current account deficits are offset by 
  (a) merchandise trade deficits  
  (b) merchandise trade surpluses 
  (c) capital/financial account surpluses 
  (d) capital/financial account deficits  
 (7) ˜ÛÛÅÛä ”ÛÛ©ÛÛ¶Ûà ”ÛÛ² ÈÛÛÇÛé þéùÉÛ _________ 
  (a) ¼Ûà›Û þéùÉÛ¶Ûé ÈÛµÛÛÁéõ ¶ÛÛ¨ÛÛ× Š™öà¶ÛÛ …Û¸ÛÉÛé. 
  (b) ÈÛÍ©Ûä…Ûé …¶Ûé ÍÛéÈÛÛ…Ûé¶Ûà Ü¶ÛïõÛÍÛ¾ÛÛ× ¸ÛäÁõÛ×©Û …¶Ûä½ÛÈÛé. 
  (c) ¼Ûà›Û þéùÉÛ¶ÛÛ þéùÈÛÛþùÛÁõà¾ÛÛ× –Û¤øÛ¦øÛé ¬ÛÉÛé. 
  (d) ¼Ûà›Û þéùÉÛ ¸ÛÛÍÛé¬Ûà ÈÛµÛÛÁéõ þéùÈÛä× ÅÛéÉÛé.  
  A nation with a current account deficit will be 
  (a) lending more money to other nations 
  (b) experiencing a surplus in exports of goods and services 
  (c) reducing its indebtedness to other nations  
  (d) going further into debt with other nations  
 (8) ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ …é ÍÛÁõÈÛíéýÛä× _________ ™öé.  
  (a) ¶ÛÛ¨ÛÛ×ïõàýÛ …ÍïõýÛÛ¾Û©ÛÛé¶Ûà Ü¶ÛïõÛÍÛ …¶Ûé …ÛýÛÛ©Û 
  (b) ˜ÛÛÅÛä ”ÛÛ©Ûä×  + ¾Ûæ¦øà ”ÛÛ©Ûä×  
  (c) ˜ÛÛé””Ûà ÍÛéÈÛÛ …¶Ûé ÈÛÍ©Ûä…Ûé¶Ûà Ü¶ÛïõÛÍÛ   
  (d) Merchandised Ü¶ÛïõÛÍÛ¶Ûä× ¾ÛæÅýÛ¾ÛÛ×¬Ûà …ÛýÛÛ©Û ¼ÛÛþù  
  The “balance of trade” is a record of 
  (a) exports and imports of financial assets 
  (b) the current account plus capital account 
  (c) the net export of goods and services 
  (d) the value of merchandise exports minus imports  
 (9) J-Áéõ”ÛÛ¶Ûà …ÍÛÁõ¶Ûé ÅÛàµÛé …¶Ûé …Û×ÜÉÛïõ ˜ÛÅÛ¨Û ¸ÛÍÛÛÁõ ¬ÛÈÛÛ¶Ûé ÅÛàµÛé, þéùÉÛ¶ÛÛ ˜ÛÅÛ¨Û¾ÛÛ× –ÛÍÛÛÁõÛé 

_______ ¶ÛÛ ïõþù¾ÛÛ× ÈÛµÛÛÁõÛé ïõÁõÉÛé.  
  (a) ÈÛé¸ÛÛÁõà ¸ÛäÁõÛ×©Û ¤æ×øïõÛ•ÛÛÇÛ¾ÛÛ×  (b) ÈÛé¸ÛÛÁõà ¸ÛäÁõÛ×©Û ÅÛÛ×¼ÛÛ•ÛÛÇÛ¾ÛÛ×  
  (c) ¤æ×øïõÛ•ÛÛÇÛ¾ÛÛ× ÈÛé¸ÛÛÁõà ”ÛÛ²  (d) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¾ÛÛ× ÈÛé¸ÛÛÁõà ”ÛÛ²  
  Because of the J-Curve effect and partial currency passed through, a depreciation 

of the domestic currency tends to increase the size of a : 
  (a) trade surplus in the short run (b) trade surplus in the long run 
  (c) trade deficit in the short run (d) trade deficit in the long run 



DS-108 4  

 (10) ›Ûé ¼Ûé þéùÉÛÛé ÐüÛéýÛ …¶Ûé ©Ûé¾ÛÛ× ›Û¸ÛÛ¶Û ©Ûé¶Ûà ýÛé¶Û¶Ûä× 20 ¤øïõÛ …ÈÛ¾ÛæÅýÛ¶Û ïõÁéõ …¶Ûé ¸Û. ›÷¾ÛÙ¶Ûà ©Ûé¶ÛÛ 
¾ÛÛïÙõ¶Ûä× 15 ¤øïõÛ …ÈÛ¾ÛæÅýÛ¶Û ïõÁéõ ©ÛÛé _________. 

  (a) ¼Û×¶Ûé ˜ÛÅÛ¨ÛÛé¶ÛÛ ¾ÛæÅýÛÛé¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÛýÛ. 
  (b) ¼Û×¶Ûé ˜ÛÅÛ¨ÛÛé¶ÛÛ ¾ÛäÅýÛÛé¾ÛÛ× –Û¤øÛ¦øÛé ¬ÛÛýÛ. 
  (c) ýÛé¶Û¶Ûä× ¾ÛæÅýÛ ¾ÛÛïÙõ¶Ûà ÍÛÛ¾Ûé ÈÛµÛÈÛÛ ¸ÛÛ¾Ûé. 
  (d) ýÛé¶Û¶Ûä× ¾ÛæÅýÛ ¾ÛÛïÙõ ïõÁõ©ÛÛ× –Û¤øÈÛÛ ¸ÛÛ¾Ûé. 
  Given a two country world, suppose Japan devalues the yen by 20 percent and 

West Germany devalues the mark by 15 percent. This results in a (an) : 
  (a) appreciation in the value of both currencies 
  (b) depreciation in the value of both currencies  
  (c) appreciation in the value of yen against the mark 
  (d) depreciation in the value of the yen against the mark 
 (11) ˜ÛÅÛ¨Û¶ÛÛ …ÈÛ¾ÛæÅýÛ¶Û¬Ûà ¬ÛÛé¦øÛ ÍÛ¾ÛýÛ ¾ÛÛ¤éø ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ ÈÛµÛ©ÛÛ ¸ÛÐéüÅÛÛ –Û¤øÉÛé ›÷é¶Ûé ________ 

…ÍÛÁõ ïõÐéüÈÛÛýÛ. 
  (a) ÍÛ×¼Û×ÜµÛ©Û Ýïõ¾Û©Û  (b) ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ 
  (c) J Curve (d) Pass through  
  The notion that, following a currency depreciation, the balance of trade falls for 

a while before increasing is called a _______ effect. 
  (a) relative price (b) elasticity 
  (c) J-Curve (d) Pass-through 
 (12) ›Ûé …ÛÈÛïõ, …é¼ÍÛÛé¼ÛÙÍÛ ïõÁõ©ÛÛ× _________ ÐüÛéýÛ ©ÛÛé ÈÛé¸ÛÛÁõà¶Ûà ©ÛäÅÛÛ ÈÛµÛÛÁéõ ¼Û•Û¦øÉÛé.  
  (a) ÈÛµÛÛÁéõ  (b) …Ûé™öà 
  (c) ¼ÛþùÅÛÛýÛ ¶ÛÜÐü (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 
  The balance of trade can only worsen if income _______ relative to absorption. 
  (a) increases (b) decreases 
  (c) does not change (d) None of the above  
 (13) ˜ÛÅÛ¨Û¾ÛÛ× ¾ÛæÅýÛ¾ÛÛ× –Û¤øÛ¦øÛ¶Ûà ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ Š¸ÛÁõ¶Ûà …ÍÛÁõ …×•Ûé¶ÛÛ ¸ÛÜÁõ“Û¨ÛÛ©¾Ûïõ Áõ›æ÷…Û©Û 

¼Û©ÛÛÈÛé ™öé ïéõ  
  (a) –ÛÍÛÛÁõÛé ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ¶Ûé ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ÍÛäµÛÛÁéõ ™öé.  
  (b) –ÛÍÛÛÁõÛé ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ¶Ûé ¶ÛäïõÍÛÛ¶Û ïõÁéõ ™öé.  
  (c) ÍÛÛ¾ÛÛ¶ýÛïõÁõ¨Û ïõÁõÈÛä× ¾ÛäÉïéõÅÛ ™öé.  
  (d) –ÛÍÛÛÁõÛ¶Ûà ÈÛé¸ÛÛÁõ¶Ûà ©ÛäÅÛÛ Š¸ÛÁõ ïõÛéˆ …ÍÛÁõ ¶Û¬Ûà.  
  Empirical evidence regarding the effects of currency depreciation on the balance 

of trade indicates that  
  (a) depreciation generally improves the trade balance  
  (b) depreciation generally hurts the trade balance  
  (c) no strong generalization is possible 
  (d) depreciation has no effect on the trade balance  
 (14) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× Unrequired receipts ¶Ûà __________ Entry ÐüÛéýÛ.  
  (a) þéùÈÛÛ¶Ûà  (b) ÅÛé¨ÛÛ¶Ûà  
  (c) ›ä÷þùà  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 
  In the balance of payment, unrequired receipts are entered as 
  (a) Debit entry (b) Credit entry 
  (c) Separate entry (d) None of the above  

________ 


